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83, (xi — P4 x— dx 4+ (x%y — 2xy 4 x* + 2y —

. _ —2x+2)dy =0.
—y(x)-24+x—1)+ (x-2:p(x) =2.xp(x) +x-2+2-y(x) —2-x

Ecuaczon = (xy

(x)--
dlﬁ‘yx,x =0
(

2

Ecuaczon —xy( ) —y(x) +x—1+(x2y(x)—2xy(x)+x2+2y(x)—2x

+2) (%y(x))%

with(DEtools) -

odeadvisor(Ecuacion)
[ separable]

M := factor(x-y--2 —y--2 +x—1)
M= +1) (x—1)
N = factor(x--2.y —2-xy+x-2+2-y—2-x+2)
Ni=(—2x42) (1+y)
P=(x—1);0=0"+1);R:=(*=2x+2);5:= (1 +y)
P=x—1
0=y +1
R=x"—2x+2
S=1+y
. . (P . S
SolucionGeneral = lnt(—,x) +mt(—,y) =C,
R 0
: 1 2 1 2 _
SolucionGeneral := > ln(x —2x+2) + > ln(y + 1) + arctan(y) = C,

restart

(4;.: J_/éx,a/"f 57) —+ (E’w "‘/?Jrﬁ?f%z“{ 3—5/3%‘?% =

M:=4-x--3-y--3+16-xy--4+8
M= 4x3y3—|-16xy4—|—8
N:=3-x-4-y--2+32-x--2-y--3 +18-p-:2
N:=3x7 43277 + 187

Comprobar = simplify(diff (M, y) — diff (N, x)) =0

Comprobar :==0=0
Ecuacion = (4 x3y(x)3 + 16 xy(x)4 + 8) + (3x4y(x)2 + 32 xzy(x)3 + 18y(x)2)

diff (y(x),x) =0

Ecuacion = 4x3y(x)3 + 16 xy(x)4 +8 + (3 )c4y(x)2 + 32 xzy(x)3 + 18 y(x)z) (% y(x))

=0
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| > with(DEtools) :
> odeadvisor(Ecuacion)
i [ exact, rational] (11
> M, N,
3.3 4
4xy +16xy +8
i 3243207 +18)° (12)
> IntM = int(M, x)
i IntM:=y3 4 8y4 ¥ +8x a13)
> SolucionGeneralUno = IntM + int( (N — diff (IntM, y) ), y) = C,
SolucionGeneralUno :=y3 X+ 8 y4 Z+8x+ 6y3 =C, (14)
[ > [ntN = int(N, y)
o 42, 34 3
i IntN:=8y x"+y x +6y as)
> SolucionGeneralDos = IntN + int( (M — diff (IntN, x) ), x) = C,
SolucionGeneralDos :=y3 X +8 y4 “48x+ 6y3 =C, (16)

> restart
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M Ay Hanly)- = 3

\GSa,c(u,\-le é,of’ ‘5%
\O?

> Ecuacion = 3-x--2-tan(y(x)) — AM + (x~-3-sec(y(x) )2 +4-p(x)--3

X
i (3. x) =0

3
X

3
Ecuacion =3 x* tan(y(x)) — 2y(x)° + (xS sec(y(x) )2 -|—4y(x)3 + 3y(2x) J (%y(x)) a7
i =0
| > with(DEtools) :

> odeadvisor(Ecuacion)

| [ exact] (18)
> M:=3-x--2-tan(y) — %%3
3
M=3tan(y) — 22 (19)




2
> Ni=x sec(y)z—i-4y3 + izL
X

2
N=x sec(y)2+4y3+izL 20)
X
[ > IntM = int(M, x)
3
IntM =" tan(y) + %5 21)
X

_> SolucionGeneral = IntM + int( (N — diff (IntM, y) ), y) =C,

3 3 .
SolucionGeneral := )/_2 + X sin(y) +y4 =C, 22)
X cos(y)




